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Note

1. The entire homework should be in the child’s own handwriting.
2. Parents are requested to act only as a guide when children are doing their work.
3. The work has to be neatly done.
4. Homework to be done in a separate thin notebook.
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rcise : 1
Exe Date :

m
1. Write number names :

2) 4,937 =

b) 2,390 =

¢) 7,005

d) 5,861

e) 3,082

f) 1,604 =

2. Write numerals :
Nine thousand five hundred and one = _950)

o

Four thousand two hundred and thirty-two =

)
)
) Six thousand seven hundred and eighty-nine =
)
)

o

(@}

One thousand forty-five =

e) Seven thousand nine hundred and thirteen =

f) Eight thousand six hundred forty-seven =
ﬁ

| Remark
Signature of the teacher 1
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Exercise : 2

1. Write the place value of the underlined digit :
a) 3,742 sl i - Rough w
b) 9,021 ___ |
c) 2,074
d) 5,831,
e) 4,201
f) 6,363
g) 7,232
h) 3,118

2. Write the Iargest and the smallest number

formed by using all the given digits. Also find the
sum and difference :

Largest |Smallest | Sum Difference
a) 8265 | el o

b) 1073
c) 9242

d) 4857
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Exercise : 3 . Date :

,,—-—,_————\__———__\—_—_—____-___—————_—

1. Expand the following as shown :-

a) 2,721 = _2,000 + _ 700 + 20 o T
b) 4,386 = + + i
c) 6,941 = + + +
d) 7,017 = + + +
e) 2,331 = + + +
fy 9,820 = __+ + +
g) 1,061 = + + +
h) 7,429 = + + +

2. Write in short form =
8,000 + 100 + 90 +

Q
~

oy

5,000 + 300 + 00 +

I

(@)

o
N e S S

6,000 + 900 + 70 +

7,000 + 000 + 60 +

4,000 + 600 + 30 +

f) 9000 + 700 + 80 +

g) 8,000 + 300 + 70 *

1

h) 3,000 + 500 + 10 *

e —

VJ/*

Remark
/ Signature of the teacher 3
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Date :

Exercise : 4

1. Expand the following as shown -

a) 9,847 = 9 thousand  + 8 hundreds + _4tens : ‘
b) 5,918 = oy e + -
c) 3,469 = § by R
d) 1,207 = : . 2 3 B
e) 8,743 = , i : :

f) 4,517 = . , & :

g) 5,429 = . . i

h) 2,815 = P hadis +

2. 'Write in short form ;

a) 4thousands + 8hundreds + 1ten + Q ones = .

b) 1thousand + 6hundreds + 5tens + 9 ones =

<R
c) 7thousands + 9 hundreds + 2tens + Qones = —
d) 6thousands + 3 hundreds + 6tens + 1one = —

e) 2thousands + 9 hundreds +

Tten + 5ones = —
f) 3thousands + 7 hundreds +

8tens + 2ones = ——
g) 9thousands + 1 hundreds +

3tens + it
h) 5 thousands + 0 hundreqs . Oones =__—

— 1S+ Tones ==

Signature of the teacher A

Damark
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/

- Date :
1. Write the number names of the following numerals : r

o) 1422

) 5,910 =

c) 7,247 =

d) 2,806 =

e) 3,072 =
f) 5,030 =

g) 8,321 =

h) 8,287 =

2. Write in numerals :
a) Eight thousand one hundred and ten = 3” 0
b) Five thousand nine hundred and sixty-eight =
)

¢) Seven thousand eight hundred and forty-three =

Q.

) Nine thousand four hundred and seventy-seven =
)

€) Three thousand and sixty-one =
) Six thousand five hundred and thirty-two =

9) Four thousand eight hundred and seventy -nine =

") Two thousand and four = —
S 5 Remark
'Inature of the teacher
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Date : __¢,

I ~ Write the numeral for. each of the following :

ns 9 ones =

a) 5 thousand 7 hundreds 8 te

b) 2 thousand 4 hundreds 6 tens 2 ones =

c) 7 thousand O hundreds 7 tens 0 ones =

d) 1 thousand 5 hundreds 6 tens 7 ones

e) 7 thousand 6 hundreds 3 tens 9 ones =

f) 6 thousand 1 hundred 9 tens 8 ones =

g) 3 thousand 2 hundreds 3 tens 7 ones =

2. Wirite the following in expanded form

a) 6,921= cthousands _____ hundreds tens one
b) 2,884 =
| ) thousands — hundreds tens one
| c) 1,791=
| ) ——thousands ___ hyngreds ____ _tens oneé
| d) 9,233 = —
' ) thousands ——hundreds _____tens oné
e) 8,008 = thOU V
sands — hundreds  ene o
\
f) 4455=__  thousands |
| 9) 7.821=___ thousands |
—_— hundreds Fitn: tteng A one
Signature of the teacher
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Exercise : ?

| B

Date : -

— e

3) 5,®3 9

b) 8,91Q

C) 7, 8@3
g @370

g) 2,232

f)

g)

h)
)
J)

| 4 write the place value of the circled digit :

3,@02
@oo0o0
@865
3,5 4@
1,9@9

2. Write the following in short form :

a) 6,000 + 800
b) 2,000 + 900
¢) 7,000 + 100
d) 1,000 + 000
e) 3,000 + 600
f) 5000-+ 700
9 4000 + 300
") 9000 + 400

) 2000 + 200

g

SiQnature of the teacher

-+

+

+

10
40
80
90
50
30
70
60

80

+

4+

2

6

I

1l

I

e

T Remark
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Date :
Exercise : '8
1. What comes before ? (predecessor) :
a) 4,989 f) 4100
b) 7291  9)
c) 1833  h 5 643
d) 6,914 ) 8 515
€) 2722 ) 0 348
2. What comes after ? (successor) :
a) 4,121 ) 4.989
Rk - 9) 7615
?) 8543 - h) 9,284
d) 6,720 ) 1407
e) 3,662 e

3. What comes before and after ? (predecessor and successor)

% 1,999 -
b) ek —
c) M =
d) ‘
2,762 -

e

) — 4.000 .

Signature of the teacher
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2. Arrange t

a) 1,000

b) 1,736

¢) 9,359

———e

d) 6,839

| percis® 9
. Aange the following
; 4,563 | 3,397
) 7,9:5; 3,458
0) 3,969_ 4,678
d) 6,135 3,542—0#
i

he following number

2 684

P
8,916

—
8,287

/
2,457

1,284

8,349

——————

3,893

e —

5,439

_.——-—".—-’__-—_

1,289

I
4,019

I
4,143

_
8,235

——

9

Date :

%

2,565

——

5,768

-

1,857

—

9,300

—

3,037

-

7,348

)

6,390

———————

4,169

numbers in ascending order :

5,139

e ——

2,874

——————

8,300

———

6,003

I

s in descending order :

4,950

e —

4,239

R

2,767

EE————

7,106

—————————

Re

f %
mark

Aol
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1. Answer the following: ~ "
a) Write the smallest and Iargest four-dlglt number

Write the smallest three digit number. What is its Predecessg,

c) Write the largest two-digit number. What'is its successor ?

- d) Find the difference between the Iargest two dlglt number.and tt
smallest two digit number ' ,

2. Write the number 10\gmore than

a) 4,103 | d) 3827"'
b) 6,912 B | ) 5611 )
c) 8,876 R f) 1308
3. Write the number 1000 more than

a) 4,546 ©.d) 7,220 -
b) 8,210 ‘e) 5,424
c) 3,350 o f) 2.004
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Exercise : || Date :
1. Put the correct sign (<, >, =)

a) 6,451 6,541 e) 9,786 9,786
b) 3,754 3,457 f) 2,331 2,332
c) 1,091 1,072 g) 1,299 1,301
d) 4,232 4,323 h) 8,609 8,649

2 What comes before (predecessor) and what comes after

(successor) ?

Predecessor Successor

a) 1,345

b) 7,999

c) 5,350

d) 8,711

e) 4,333

f) 6,867

g) 9,360 —

b
Remark

ature of the teacher 6

- 7
Scanned with CamScanner
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REVISION WORKSHEET -2

CHAPTER -2 ADDITION
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A4
919 896 7195
+1917 +916/8 +9198|
59 5(9|7 5196
1+1915 +91318] | [+1912|8]
519 5194 5193
+/1916 + 9178 | [+/9/9|8
| 1519 678 81716
+917 + 5413 | [+/5/5/5]
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1)

5)

13)

17)

o+

| <L Exercise 2

327
145
472

427
344

N B
= W
~ 00

253
129

163
118

608
172

2)

6)

10)

14)

18)

-+

428
134

308
126

528
66

179
518

3)

7)

11)

15)

19)

+

505
165

625
133

NoWw
w un
o N

326
108

426
57

342
156

Scanned with CamScanner

4)

8)

12)

16)

20)

| VR

356
+ 129

357
+ 326

315
+ 229

537
+ 248




e

Addition: 3 digil addition with regrou% ExerCise 3

N 226
+474

55 652
+473

9 105
+399

13 313
+191

2 695
+826

6 698
+486

10 673
+681

149 705
+327

3) 484
+942

7 582
+149

1 427
+565

155 678
+938

49 565
+844

8 127
+404

12 279
+619

% 553
+897

h. 4

il
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Calculate

(=)

133
+ 177

<i Exerci
=) )

sed

G

255
+ 388

y

432
+ 298

463
+ 517

149
+ 455

288
+ 319

521
+ 448

258
+ 197

188
+ 257

654
+ 129

633
+ 176

222
+ 387
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[

I D L

1226
+1829

2241
+1539

J

3704
+37856

¥l

6295
+2556

ﬁ Exercise 5 ﬂ

Oo1Emaam o1 |

1137
+1089

1357
+3106

7513
+1397

1.

5628
+1372

1168018 10 ]

28369
+1046

-

4360
+218%2

@

8971
+1739

13-
6409
+1597

Pl
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Name;

J

2258
4 5380

9701
+ 3652

1016
+ 8865

2592
+ 6734

3095
+ 8956

Exercise 6
1

9569
+ 2332

1912
+ 3172

1194
+ 2202

7481
+ 2844

1243
+ 6516

1265
+ 8643

9408
+ 4774

1452
+ 3526

1998
+ 7429

2203
+ 8564

3715
+ 2322

5539
+ 9457

3177
+ 1664

5732
+ 6463

1549
+ 6842

Scanned with CamScanner
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6416
+ 9721

7300
+ 7042

8133
+_ 4645

9929
+ 4474

1569
+ 2902



I

4-DIGIT ADDITION (NO REGROUPING) SHEE!

1)

5)

9)

13)

17)

21)

3217
+ 2531

1437
+ 6250

4130
+ 2638

5328
+ 3160

5527
+ 3240

9142
+ 536

2)

6)

10)

14)

18)

22)

Date

2216
+ 2503

4226
+ 3521

5362
+ 3023

4316
+ 2523

6205
+ 364

6093
+ 3702

3)

7)

11)

15)

19)

23)

+

Exercise 7/
4435 4) 3205
3162 + 562
6438 8) 3781

341 + 2016
2714 12) 6632
3053 + 2154
3063 16) 3226
1621 + 3071
4816 20) 3238
3052 + 2521
2834 24) 4412
2105 + 3577
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3[ Exercise 8 J

=
OviN

hon
T

O I~
o4 O
an$G0

DO

OO
Th i~
O
D

N v
o O
h i
T

+

"
0@
v D
O h

+

D O
o
P~
OO

4

oo O
P~ Ch

T
D O

T O
1 P~
M~
h i

Oh QO

h I~
= O

D0

oD
hiD)y

O Oh
oM

o O
o~
Oh I~
e’y

o0 "

1 O
D

= Oh

WA TR I L SR a1
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Name

5162
+ 2993

8410
+ 2896

7134
+ 4892

2441
+ 5825

7480
+ 6200

5230
+ 366

3600
+ 7490

Four Digit Addition{ EXQTC]SG 9

2382
+ 5413

8193
+ 599

4653
+ 449

AQ44-3
8146 9437 6371
+ 3375 + 1622 + 1748
2589 4716 5166
+ 7332 + 3146 + 3307
9249 6523 7553
+ 1351 + 3476 + 3591
3226 7569 5920
+ 784 + 1116 + 2555
8511 3582 5566
+ 4444 + 1793 + 3584
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WORD PROIBLETES -
Rough

Solve the following problems :
a) John has 2,138 marbles. He buys 5,430 more.
Now he has marbles in all.

b) Tom ate 1,981 cherries in the morning and 1,100
cherries in the

in the evening. He ate _
whole day.

c) Sam has 6,310 eggs and Jack has 2,425 eggs.
They have eggs altogether.

d) There are 1,281 boys and 1,310 girls in a school.
students in the

There are a total of
school.

e) A florist has 3,750 roses and 4,200 sunflowers.
flowers in his shop.

He has

f) A library has 8120 books. 450 new books arrive.
books.

Therefore now the library has

g) In a farmhouse there were 2,320 horses, 1,570
pigs and 2,007 chickens. How many animals and birds

are there in the farm house altogether ?
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HAppY
Holidays!
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